
Differen'ability 
 

𝒇(𝒙) = 𝟐𝒙 − 𝟓 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



𝒇(𝒙) = 𝒙𝟐 − 𝟒 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝝅 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝟐𝒙𝟑 − 𝒙 + 𝟑 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = |𝒙| 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = |𝒙 + 𝟐| 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
|𝒙|
𝒙  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
|𝒙 − 𝟑|
𝒙 − 𝟑  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝒙𝟐 𝟑#  
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



𝒇(𝒙) = 𝒙𝟏 𝟑#  
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
𝟏
𝒙 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
𝒙 − 𝟐
𝒙 + 𝟑 

 
 

 
 
 


